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Wi T = 10 25,026,000
BHMHIEL o 10 25,026,000
BOIILEL e 10 25026539
BARERY FEL | 405m2/2 m2 | 15261 2165 3304006
ERREL P33/40N & 2390 7610| 1818790
manmiy L AwFFy ST 2390 4616| 1103224
WBO—TREL |25y yoa@zss| m 1188 3711 440866
MR e 10 18,359,653
fivest = 10 5,632,000
e L o 10 5,632,000
ROBHRLME L e 10 23350
EXRRIVE |1y praves m3 45 5189 23,350
el - 2R L = 10 231,769
BHT aHmEs 7em3 530 4373 231,769
Poekfese L e 10 1,270820
RERERES I u-nEm = 10 383042
HERLIHE AP U-hER m3 50 4370 21,850
LIRSS - 85 510108 = 10| 865928 865928
B L e 10 3788135
TIU—IEE  BH g1 sookers spa| = 10 3,788,135
ZORE = 10 318313
e R mm— Y= 200| 14175 283,500
UETEBREE | me momn | = 10 54513
BEIEE e 10 30,658,000
E(REAE = 10 4711,389
BRI (RE L) = 10 3850,602
BIBIRENER (K5t ) =% 10 851,787
WTEE e 10 35,369,389
RIpSER = 10 13057.986
TR = 10 48427375
—pEEES = 10 8,969,490
—pEEEEt = 10 8,969,000
T =y 10 57,396,000
HERIESE = 10 5739600
maLE % 10 63,135,600




